


2. o8 F A gL AL
D (1P (1) = -1 @ (-17)x (+1)? = -1
@("‘22) X (_12) = -2 @ (+2)2 % (+2)3 —39

® (-3)2x (+1)2=9

‘ ® (+2?)x (-1%) =4 x(-1) = -4
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4. -8+6-12+ 5= AAtstHA?

@9 @7 ®-1  @-9

~&B

—8+6-12+5

= (=8) + (+6) + (-12) + (+5)
= (-20) + (+11)
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® -8 @ -9 ® -10
,7,8,9

_9 , _8,_7 o
W5 HsHA 0




)3 ® -3 @ 2

® -2
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@® (+18) +(-6) = -3 @ 0+
@ —As5=-8
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=0

@ (+18) + (-6) = -3
@0+(-4)=0

0(3)+(-(=(H) -+




16. The % At A vl Wk ohE shs?

@ (+64) + (-16) @ (——) + %

@(%) s (—g) @ (~24) + (+6)
®

D= (D)2







18.

-2HT}6Y =7
@ 3 @)4 ® 5 @ 6 ® 7
_2HT} 6T 2 2ol

(=2) + (+6) = +(6 -

2) = +4 °|t},




19.

=0+32
®a oo e
26 @@
@ o2 e

7) = (-18) = (=18)+(+17)—(—18)—(+15)
- =(—18)+(+17)+(+18)+(+15)
O];*- AR S 3 ((L18)+(+18)1+(+17)+(+15
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o
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oM E217] Al&skant.

(=18) + (+17) — (=18) — (+15)

= (=18) + (+17) + (+18) + (-15)
= {(-18) + (+18)} + (+17) + (-15)

=0+2

=2




20. T3 QS Halg A 2 vHto] Al4bsto gt
(=79) + (+17) + (-21)

Ch "
=

>
> 3E: -83
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B

(=79)+(+17)+(—21)
=(+17)+(-79)+(-21)
=(+17)+(-100)
=—(100-17)

=—83
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22. thg AR At AP 2 e

@D (+4) + (+5) @ (-6)+(-1) ® (+3) + (+5)
@ (145 G+ +(+7)

@ (+4) + (+5) = +9
@ (-6)+ (-1) =-7
® (+3) + (+5) = +8
@ (-7) + (-5) = -12
® (+3) + (+7) = +10
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® -32=9

@ —(-1)2=-2

+8

O (-2)°

@-»

® —(-3)3 =-27

-8

)P =8,@ ~(-1) = -1,
-9, ® —(-3)3

@ (-2
® -32




@ -25=-10

@ (-1)*x 10® = 300

@-25 =-32
®9x3=27
@ 1 x 1000 = 1000

1
9% x < =5
® 5><5




26. th=< AtehaE?

(=9) + (=4) - (=3)

@—10 @ -1 ® -12 @ -13 ® -14

(=9) + (-4) = (-3) = {(-9) + (-9} + (+3)

(-13) + (+3) = -10




27. TS Tsjolel.

(+4) + (+6) = (=3)
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(+4) + (46) = (=3) = {(+4) + (+6)} + (+3)
= (+10) + (+3) = +13




@ (-3) x (+2) x (=2) = 12
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@ (-2)x (-5)x1=+10




st = (D)x(5) o= () x() waxranera

Xb_( 21) (+12)_ 18
axv=\"7 35/ 5




@ (+12) X (+5) = 60 @ (-2)x (=30) = 60
® (+4) x (-13) = =52 @ (-22) x (+4) = 88
@) (-8) x (-9) = -72

® (-8)x (-9) =72







